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How many types of genotypes are formed in F2 generation of monohybrid cross?

waerdeRt @ehor bt F2 et 7 forem wem o sfierey frfifa any 39

/‘( (B) 2

& 9 D) 4
(E)  Question not attempted / AR w31

Which coal contains the highest amount of carbon?
(A) Bituminous (B) Anthracite
(C) Lignite - (D) Peat

(E) Question not attempted

fora g ® Irfireran wrEn § sl g ST 2

() foefrm By e

(€) fommse (D) de

(E) ATaRawx

Select the plants found in the subtropical mountain forest in Rajasthan :
(A) Mango, Neem (B) Dhokra, Palash
(C) Khejn, Ber (D) Ker, Thor, Foag

(E) Question not attempted
Wﬁmmmﬁmﬂﬂwémﬁmaﬁmﬁa&ﬁwwﬁﬁ&

(A) W, dH _@BY tﬁﬂ»‘gﬁ SR
(C) WE, N (D) AR, G
(E) 3Jaia =

Bamboo forest is found in which of the fnllnwi‘ﬁg districts of Rajasthan?

Choose the most appropriate option from below:

isalmer
(A) Churu (B) Jaisalm

(C) Banswara (D) Bikaner

(E) Question not attempted

gte =T ST (Bamboo furest)tmwm%ﬁmﬁﬁaﬁﬁﬁmﬁﬁﬁwm%?

ﬁmw%mmﬁﬁmgﬁl

(A) o . (B) SEaw
€T aEas - (@)
(E) di@9d

o . * J ]
Chuliya waterfall is located in which of the following regions of Rajasthan
Choose the most appropriate option from below:

. ‘l‘ n
(A) South eastern plateau region (B) Western desert plain regio

(C) Eastern plain region (D) Aravali region
(E) Question not attempted

Sferan sterwara Tewar o Frafafaa § § fomg g i sraftuq 2
fore= i & wad g faaea )

(A) <o qeff gerd & (B) qféredt weeerelta A &8
ey it et (D)  3raeh &
(E) 3rgaita 94
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What percentage of the total land mass area of India is in Rajasthan?

Choose the most appropriate option from below:
1ﬂtﬁﬂr'*?11¥HFWEFFE?H?TSﬁﬁ¥ﬁT1¢FTIFEFHF?II%r
fer & e I T .
S 104% o) (B) 12.4% o
(C) 7.3% d;* (D) 13.3% O
(E) Question not ﬂttEi‘!‘IptE‘d / Hjﬂkﬂ oA Vo
- o
"Rosewood, Mahugun}‘j :E.nd Ebony species of trees are found in which type of the following Ibrest arcas?
Choose the most agpmpﬁme option from below: (")
(A) Montane Ll (B) Littoral and Swamp B
(C) Tropical Evergreen F lD] Tropical Thom
(E) Question not attempted v
EEES mw@ﬁ?ﬁ%ﬁgﬁﬂ%ﬁﬁﬁﬁﬁﬁ?ﬂmﬁiﬁmaﬁﬁw »
FﬂqﬂqE??ﬁﬁﬁ:ﬁ¥ﬂﬁiﬁ?&ﬁ?1?¥¢l O
‘,Lﬁ*"“éﬁnq \O (B) g 3R I O
(C) SWIEEH™ wmgn (D) SWIERET FIN g
{
(E) aia = Pt o
- =
Data are transferred between different components of a computer system using physical wires called :
(A) Bus (B) WAN
© cPu. - v (D) Flowchart 8
(E) Question not atp- pted | O
mﬁmm% Feat ¥ wor i ard &1 STaT S ST T ST FTe ST A 8
(A = ] (B) g
(C) ¥H¥g ‘13_} (D) TR <
(E) ¥qEiaws — '
9 In Microsoft word. which of the following provides information about the current document?
(A) Status bar (B) View buttons ol
(C) Standard Tﬂﬂ]t;;ji (D) Tabstop g
(E) Question not attémpted -
Wﬁﬁﬁmﬁ%ﬁ ﬁﬁﬂﬂa@mﬁa%aﬁﬂaﬂwﬂmmﬁl o
(A) VW@ aR ABT -ﬂﬂz_m O
*:) (D) ECR=i L ™M
<€_BEgET () -
(E) qai@yd
10  Which of the following is NOT a function of MS Excel? - 3
©) Coont®d oo (D) MINQ =
e
(E) Question not attgmpted ﬁ
Frsffga i @ 9 g & GaTH T8 & D
A) T O (B) FER() o
- ™) Py THANEE ()
(C) =320 ol 1
(E) qai@w=

=

| P T.O.

Q13| F
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TER MR AW VOO CHN DC ODININCU ITTUVIHL NG NVINE VI RUIIIDITED RITILY GEIE wrsnnenss mom sy momms o -
methods in laboratory, This is called :

(A)  Vital Force Theory (B)  Theory of Hydrocarbons

(C)  Freons Theory (D)  Wohler Theory

(E)  Question not attempted

el s Afiver ) Fever v ofvat D Y st o s cvewen B sfhe gy sevraren 3 e fafvat g weafoa T

e s e R) a wwarn R
Aﬁh-wm (B)  wEBvEn fugt
(C) fruta famia (D) aren fugta

(E) 3rqafergx

12 Match List-1 with List-II )

List-1 (Forest Area) List-II (Place)
a. Sariska l. Alwar
b. Darrah I1. Kota
&, Mount Abu I1I. Karauli
d. Kailadevi / IV. Sirohi
T -1 g -0 @ e A
et -1 (=7 &) et 11 (FaT)
a. Q& - -1. FdAGT a,
b. FE - I e \\ % 4
c. t-nazemq> "Il et /
d. e hioe ~1v. fad
Choose the most appropriate answer from the option given below:
= faq oy fraeat F @ waifies suge sw g ;
a-I,b-1I,c-1V,d -1  B) a-ILb-Lc-1V,d-1I
(C) a-I,b-lllc-1.d-1V (D) a-IV,b-Ml,c-1,d-1I

(E)  Question not attempted / STaRd 94

0
13 A metalis in the form cubic crystal lattice. Lattice constant of unit cell is 2.88 A and density of metal is 7.20

gm/cm>. What is the number of unit cells for 100 gm metal?
-

T a1 & foreer ot simers: 2w 3 81 e e a1 siTeres Fraai 2,88 A € T °Tq 1 9 7.20 gm/cm’
&1 100 I UTq & UFF Rfeari hr e a4 87

(A) 2x 102 (B) 3x10%

(C) 6x10% ((.Bj‘ 5 x 1028

(E)  Question not attempted / STaf ug

14 Frfafes ammt # s am 8. |
(A) 9 7et g B
= = (B)  wrwwn wf & st o aar am

- b _ADT as i g mm
Q13 ] ? 4 [ P.T.O-
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Choose the most appropriate English translation of the given sentence

(A) He is insulted by w.hnm? (B)  Has he been insulted?

_er” Who has insulted him? (D) What has he been insulted by?
(E) Question not nttemipt::d ‘ ‘
Choose the most appropriate rr:*pnrl::d form of the given scntence:

“Do you realize that the shoes you are weanng aren’t a pair?”, [ asked.
[ asked him if he realize that his shoes were not a pair.

B) | asked him if he realized that the shoes he was wearing weren’t a pair.
©) 1 asked that was he aware that his shoes aren’t a pair?

(D) I told him that his shoes aren’t a patr.

(E) Question not attempted

Choose the most appropriate option to fill in the blank:

“1s dad in?”

“No, he isn't. He home an hour ago. He yet.”
(A) Leaves, didn’t return (B) Will have, has not returned
(C) Leave, not returned (D) Left, has not returned

(E) Question not attempted
Which of the following mountain peaks is situated in India?

(A) Mt Annapuma (B) Mt. Kamet

(C) Mt Everest | (D) Mt. Dhaulagiri

(E) Question not attempted -

=i & @ 19 971 9dq firat e o feua 82

(A) HRER AP (B) W HWE
Oy AR T (D) ¥R dienfift

(E) 3dia o

Tors, block mountains, rift Valleys, bare rocky structures are physiographic features of which of the following

regions of India? Vi
(A) The Peninsular Plateau of India (B) Northern plains of India
(C) The Indian desert (D) The Island groups in India

(E) Question not attempted .
o, siar aifet, T Fgrt weAd wid & freffea 9 8 e &7 <Y W3TTR{d faeread &2

R, =ATh

AT T T TR 931 (B) W@ % Il &M
(C) WRdg weedd (D) Tl 9 68
(E) Agaia 94

Who among the following is not appointed by the Guv?mer of Rajastha~"

Choose the most appropriate option from below:
(A) Vice Chancellor of State Universities
(B) Chief Justice of High Court.

(C) State Election Commissioner o
(D) Chairman of the State Public Service Commission

(E) Question not attempted
S 3 & ot TrordT 36 TeaTer gra Fgeh e fopam ST €2

frafafaa & & wed farerea |
(A) Usa fagfaaraa

Q31 F

&£ sy faEa Agw
(D) TSd Sk qaT HATANT o STAH
(E) 3rufta s

S [ P.T.O.

__*__
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21 U '
- nder Article 323
B .5 nr - L s &
the Constitution of India, the State Public Service Commission has a duty to present ap

annual re o
(A) \F‘P‘i‘rt as to the work done by the commission, to whom?
£ idhan Sabha o P
resident

(C) Chief"Minister
* ~ D) Governor )
(E) %Que* N not attempted | oy
VIR F SR 3 0
Fha N&;?rns%m‘mmﬂmmmm%ﬁ@ﬁwmm%Qﬁm%aﬁ
A & o
{?? IR B) Ty O
RLERLE iy Dy s (V)
(E)  ¥qaRduy . v
22 The body workine :
e :‘h e “ﬂ\j“!b at the Filghcst level of Rajasthan administration system is :
) * o ¢ MOst appropriate option from below: i
£ wemor's off;
= Minqm ‘ office (B) Chief Mififster's office
E) Que«iltgwm (D) Guvemmles?l Secretariat
STOn not attempted 0O
ST m(ﬁm%mﬁqmmmﬁmﬁm%: 5‘
A) 'q Iu: I ﬁﬂ?ﬂﬂ'} - )
(A) TGS FEiay T Frfey
(C) == ;.g*)r ;Tnﬁrﬂﬁﬁmm
(E) Saf@wxw
i
7 ; :
23  Who was therChief Secretary of Rajasthan as on 5th September 2024?
A
(A) Sul?lif.h Chand (B)  Sudhansh®Pant
(C) SatishKumar ish N
(D) Jagdish M‘:J na
(E) Q}le:«gn not attempted i
TS ¥ 37 |ied (05 faamr 2024 1) 397 t?'l
(A) TS By i g v
(C) wAMFAR (D)  SPTEteT Hor
(E) ST9iEaun
i Vi

24 ; , &
Aman take$)S days more than Bhanu to do a certain job and 9 days'more than Pankaj. Aman and Bh
together cafnldo the job in the same ti ' ‘ | o

ﬁm@ the r ¢ time as Pankaj. How many days (ﬁnan alone would take to do it?
ST FIE = Wﬁﬂﬁ;nsfﬁaﬁtmﬁ9ﬁqmﬁmmmﬁ IR 9T forerat 39 1t vy & v
& HEE & %tw_mmwmﬁaﬁmﬁmﬁﬁqmm%? )
(A) 20y (B) 25 M
© s & o7 15
(E) Question not attempted / Njﬁf{?[ qa

25  Ajay inv ) i :
jay investedl a total sum of T 7,100 in three different schemes ufﬁﬂnple interest at 3%, 5% and 7% per

annum. Affhe end of one .
year, he got same in i .
investiad acin i terest in all three s¢hemes. What is the amount of money

mﬁaawuaﬂi?%nﬁraﬁaﬁmﬁﬂmmﬁm s '
3% 3 Rk - AASTTNY o ey 2 faarer faram
@aémmm?ﬁﬁm:rmﬁmmﬁmmwﬁﬁmﬁ%m%?ﬁ oy

/::"25@. ' @ ﬁzl,sml )

_ D ~
%V Questtﬂn not attempted / aﬂ'ﬁﬁﬁ 949 - = e
13 '
Q131 6 : [ P.T.O.
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4 Ll
Dgg\ﬁ_{; + 25% of 512 - g of 75 1s :-

; fl

The value © 4 |

0286 +512F25% = 751 < I qH 2:-

g 4,180 (B) 5,900
{?1} 4,700 (D) 4,910
:E} Question not attempted / Gﬂﬂﬂﬂ d
person with blood group can accept blood from all, while person from blood group can
donate blood to all. |

A) AB+ . 2 respectively (B) AB+ ; O+ respectively
:C‘ j @ AB+  respectively (D) O0- AB +  respectively
(E) Question not attempted . |

sRr a1t gre safts aft & T T80 F g&aT €, Taih s af aren safe oft F1 @ 2

g1 2
(A) FAS: AB+ O- /f[ﬂ suam: AB+ ; O+
(c) I O+ AB + (D) sHHEl: O- _AB+

(E) aa 94

A dealer offers three successive discounts of 50%, 10%, 20% on an article. What is the single effective

discount rate?

e St Fpet T T SR 50%, 10% 37 20% 1 o e T &1 e et g o Rt &2

(A) 69% (BY ?zzf.,
(C) 60% (D) 64%
{E) Question not attempted / Hﬂﬂﬁ'cf 949 3

: soge %
What is the equation of the hyperbola, the length of whose latus rectum is 8 and eccentricity 1S /5

3
o ST o aERT & e e A g T I3l 5 &7
2

AP . e
A 3 ] B) 35716

i L
(€) 25_2n"1 AP 50725

(E) Question not attempted / e A

' ame the ruler of Mewar?
After the death of Rana Ratan Singh who bec g -

:g)) ;ar]l]a Vik;?;:-]:tj:ya (D) Maharana Raj Singh
aharan

i ted
(E) Question not attemp L A

wmfﬁaﬁﬂ%wmm - trurramﬁ-ﬁ_
’fg' ?U"ﬁmvnm (D) HEo T faw

. ; B ' iated with?

Which art form is Mangilal Mistri associate a6 Wt Le'd

. ' (D) Kavad

(C) Shahnai

(E) Question not attempted -

Titfrarer i @ gay ford shell © & (B) T gedl

(A) E'ﬁ gy

(C) TS _ e
- S & [ P.T.O.

QIS]?
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2 Inthe fing stage of formation of preseat state of Rajasthan Cabinet of matsya union was formad  under the
Radership of "“1 -
(A} Shn P‘E[“ Singh (B)  Shn Mange Ram 3
(C)  Shn Shadha Ram (DY Shn Alwar Sangh KL'."

(E) Questivernug attemprad
TR TR n#mﬁrwmm&mmmwﬁmﬁ?ﬁr‘qﬁﬁwﬁuﬁmmw

(A) n’rrﬁs‘g (B) NI =FOw ™M
427 W|awr o (D) AT R i
(E)  SFeRaww

I3 Kavita is motidhin-law of Soema who is sister-in-law of Ashok. Ajay is fathepaf Vinod and oaly broth rof

Ashol. *‘-ecnu?g wife of Aly How is Kavita related to Ashok? &)
(A) \lmhem-l (BY Wife g
(©)  Nothery=— (D) Sister r"l

(E)  Questicebot artempiad
Fiya, 9 S B S oE B wndt 1 v, e S R ‘ﬁ(aﬁﬁ?:“!ﬁ‘ﬁ M'Tf?l“ﬁrmﬁ’iﬁ?ﬁ

ESE qﬁs"%m SshE R 4 A~
(A) T (B) W&
Jer = el (D) &\ s
(E) :Hﬁﬁﬁm - T
34 If North-East Hocomes West. South-East becomes North and so on. What wilkhBast become. -
(A)  North (B) South ﬂ
{(C) North-Ths (D) South-East D

(E)  Questidiihot atempred
*ﬁw-wawfﬁﬁm%.ﬁwqﬁmmm?ﬁtwmwmmaﬁmﬂm

(A) SH (B) &
o IW- Wﬁn (D) IRE-W -

35 Acuhclsmlgdmnnall faces. It1s cut mmﬁ-lmnllercubnﬂfcqualéﬁ How many cubes are there
which have quiy' one face coloured out?

TF 99 (79 ST e S s tram R S  shkaw @ s W m%m%ﬁiﬂﬁ AT N
@hw@mﬁﬁﬁﬁ@mﬁvﬁ?@ﬂ“ ™M -

<7 24 (B) 26 v
(<) 20 (D) X2
(E) thgnm attempted / aﬂﬂﬂﬂ b i
36  The branch ofStience which is related to the improvement of human race n.n{qﬁ\ based on Mendel's Law &
(A) ‘si:mthglu:}g} (B) Genetics 'J.'J
(©) "‘““’“‘E‘Oﬂ\ (D) Eugenics

(E) Questgmnot attemped
Faqer 1 € T S v e e & i wm&:ﬁw&iwmﬁﬂ

(A) H:Fﬁﬁ*' SRR BT SR
Wﬁ Q
:E)) Sy IX © R é‘!’;
313 8 [ RT.O
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hen gum-mlin“ iw crossed with any one parent, then it is called:.
\\ het :

(\) Reciprocal erow . (B) " Dihybrid cross
() Tost (TONN ., (D) Back crogg e
() Question not uLlf"‘I““d - ‘ oy
ot 111 iy it fad) (b ST A AT AT ST B At 2 e b g
() e S A TaHE doy —
() N T (D) weft T o
RSB LU LGRS (M)
ll"] Jﬂﬁ“lﬂ l“"l ail
Choose the word silpi_l‘w in meaning to the underlined word:
It is exasperating todJaten to the suggestions of my neighbour about international afg{
pothing. tg Ve
(A) boring —1 (B) frustrating O
() ;hsuppmnlulbﬁn (D) amusing -
1) Question not httpmpted a3
t hug ™
Choose the word similar in meaning to- TENACIOUS
(A) resolute oul ' (B) malign »
(C) timid (@) (D) modest 5
() Question nut@umptcd o
\O
— | r
Which of the followIhg is NOT an input device of computer? )
(A) Joystick ) (B) Monitor ﬂ
(C)  Trackball (D) Image scanner
(E)  Question not attempted
e ferfiaa & & @ A O e e e !
(A) mfeF - D (B) WA o)
O ) T T O
(C) awaTer e P W0
—
(E) 3afa w4 ro-l -,
o) ' 4 tence: ™
Choose the most apRegpriate word to complete the 5:::: :5“ i
The City Centre Mall was crowded o0 1;.rilh
(47" from " = D) of &
(C) by o) @)
(E) Question not %cmpttd tg
W . te the given sentence:
Choose the most appIgp! 1€ “_"’“"d to comple alcohol. S
A teetotaller is one who abstains _ ™ o -
(A) from Ej (D) with i
A&in

(E)  Question not attempted

Q13|2=

rs of which he knows

[ PT.O.
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Select the reptilian member found in Rajasthan -
(A)  Wild boar (B) Buzzard
(C) Indian Porcupine (D) Indian Chameleons
(E)  Question not attempted
TS90 T TY 97 970 w069 999 ¥ 9Ty i
(A) IS §3 R (FFE ER) (B) F==3
(C) wrem &S (Fem Tz) ol ' ‘
3 WiHE iz iz 35fea

(E) 3IgaRasw )D,/ ) h
Which of the following will undergo faster bio-degradation?
:;: :mso pulp (B)  Mango wood

Mango seed (D)  Mango peel
(E) Question nﬂ attempted
TEIGET § 98 SuE T"mﬂ'%-?ﬁ'mﬁr'_a'qm%’
(A) a-."::‘?-ﬂla (B) IWmF =T
(C) F==s= P

BT ImFfoss

(E) ﬂ'tgt'i;tﬂ L1
The scientist who classified the blood into different blood groups is-
(A) Kar Landsteiner (B) Edmund King
(C) Richzard Lower (D) Jean-Baptiste
(E) Question not artempted
ST T2 5 =1 = SRR T § S R o e

ﬁam (B) uTsn=sf{E:T
(C) F=Za== D) SH-3IT
(E) SarRdws |
T -1 FTEET -1 § gafoa Siie -

4T -1 (FE U) T -11 ([9TE)

a  FEY N

b. ﬁrm . &=

c. AT Il EIEB?FS

~ 4. ggEm IV. =i
AT 20 Y faaey T § watfgs I
(A) a-ILb-1r o
P I'b c-IV, d.| ,eBT a-IV,b-1lLc-1,d-1
’ *W.E-Ill,d-[j a-lLb-Lec-11,d-1V
(E) Iqafawx
T M g 2
(A) &
AC) = ®) *

(E) Safaux e

RI13] ? 10

1 pT.O
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g
i aTT aaTq'eﬂ‘ﬂEITEfl_{ 3154 -8 87
o v ® o
PO ik ! \O
( . . — r-'l
le'beco ?80 m longer when th -
€ cnt
o The shﬂL:‘?: ﬂpf;::ﬂlzﬂ nl‘:: ¢ altitude of the gyn changes from ﬁ to 30°. Then the
R hc]ght - . o o
T (TIETE) 45° § 30° T & Tl W 1 DT 80 s s vy 21 ey 2. @ i s 2
4n(ﬁ+|)“‘(’ﬁ) (B) 80(«/_+1) m (eft
4 _ ) i
(C} ( ) m (41, 0 ji%) 30(J5+|)m () o)
(E) Qucstmn not ﬂttﬂmptedmi?ﬂﬂﬂﬁ 9T O
o O
9 A sum of money is to be dlsmﬁuted among P, Q, R, S in the ratio of 6:2:5:3. If R getsg{]{}ﬂ more than S,

then what is Q’s share?

o A P, Q, R, Sa“m{qf’3%Wﬁﬁaﬁaa€raﬁﬁﬁwﬁnﬁsﬁnﬂnﬂa§ﬁ$ﬁaﬁ%?ﬁgm

e feraT 22

(A) 2,500 (B) Z3,000

(C) 1,000 =1 (D) 2,000 -
(E) Question not attempted:r‘ﬁﬂ?rﬂ?r B e | g

O
51 Kamal had 200 toffees. He ghVt 5% toffees to Ram, 15% toffees to Aman and +::um5':-ﬁ:‘:hg'7 of the toffees to

Gopal. How many toffees are‘]'é'ft with Kamal after the distribution?

)
FAC & 91 200 2T o mts%atﬁ’rtmﬁ 15% 2Tl 3THT <t 7 el ThT Al _mmrhmaa;‘rﬁmls'%

a3 91 FAE  UTH FoRaT 2T a1 @
A) 120 (B) 130
(C) 100 Ap) 110 dj’,,..«
(E)  Question not attemptetg‘lbﬂ?rﬂ‘rr B | &
0 | - . 3o
2 What will come in place of thgquestion mark (?) in the following series? :% _ Ig'f‘)‘ '
ﬁnﬁiﬁa%ﬁﬁnwﬁﬁ*)%wmww | L - 32/@/
16,33, 98, 197, 590, __ 7 l"-?("* ‘ \}» @)
AKT 1181 " S I R r J%
(C Sl \ (D) 1081 9 &
) 981 ﬁ'&-‘is 4| = e o
(E)  Question not attempted / aﬂﬁﬁﬂ a4 sA6 X2 = - 3 ¢ T [
; ) % aca
3 Find the simple interest on ?Ebﬁﬁ at 6::-% per annum for the period from 4™ feb. 20?3“ 18% April 2009.
(A) %50.00 e ) o o . 2]
(C) T37.50 ;’3 B S ,-;::é"l"
(E) Question not auemptﬂ - : _l. IR
oo m e A 0 A e
-
E) 31gaia |
Ql3](% - i 2y [ P.T.O.
2] & 15

0 v
‘e T = =
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STUDY247. | N

34 In a certain code language, ‘life is good” is coded as ‘ti ve su’, ‘enjoy life’ 1s coded as ‘fs ti’ ‘character shoy]
be good’ is coded as ‘nx, nu, bs su’. What is the code for ‘is’ in the given code language?

frdft Sz ymr A ‘life is good® & ‘i ve su’ ‘enjoy life* &Y *fs ti’ ‘character should be good’ &l ‘nx, nu, b?pg

\

1S forar strar 21 36t € g I W st % oo e & [ 1fe fJJf_EC_'{-:I_'L,VT’—;
(A) su (B) nu st LU= FSrti

' et 1 ecd ~ HRNNA
(C) AP ve Cl-ﬂ'*q*.” Jh’“‘u Ltg___ » @

(E)  Question not attempted / 3IaRE wx

5SS P,Q,R.S.T.Kand M are sitting in a straight line all facing north direction, but not necessarily in the sam;
order. There is only one person sitting between K and R. T sits between P and S. There are only two person
between T and M. K sits on the immediate left of P and P sits in the middle of the row. Which of the following

pairs of persons are sitting at the extreme ends?

P,Q.R.S, T, K 3R M 8t 3T fewm ot 3 s e wfieft ot i 33 & vy sty 7 2 o =t et sp 4 20
BN K T R ¥ 7oq el U 416 42121 PUdt S hrwen i T 31 2, TIRMF A Faaarafmas s pFars
ﬁaﬁraﬁtKéa%aﬁtpﬂm%ﬁaﬁaaﬁlﬁw%ﬁmﬁﬁaﬂqﬁawﬁﬁﬁﬁmﬂmﬁw%%?

(A) KM (B) T,M

{;ef R, Q (D) S, T

(E)  Question not attempted / A ¥

36  Which of'the following projects has brought a revolutionary change in the tribal dominated areas of Rajasthan?
Choose the most appropriate option from below: .
(A) “Veer Sagar Dam Project (B)  Mahi Bajaj Sagar Dam Project |
(C) Bhakra Nangal Dam Project (D) Jawahar Sagar Dam Project
(E) Question not attempted

Prietiaa 3 & fim afteior & Torear 3 snfarndt ager 8 et o s
e 5 8 it 39 ferew )

(A) dRETR Y ey ABY TR SIS 4R sy giEisE
(C) &SI AT TY qfigieray (D) &t TR Sy 9T
(E) qafauy .

57  Which of the following is the first Super Thermal Power Plant of Rajasthan?
Choose the most appropriate option from below:

(A)  Chhabra Thermal Power Plant (B) Mahi Bajaj Sagar Hydro Power Plant
(C)  Suratgarh Thermal Power Station (D)

(E) Question g, attempted

ﬁﬁﬁﬁﬂﬁ?-mm?qmmuﬂnﬁwﬂﬂﬂwtﬁizﬁ?

Jawahar Sagar Hydroelectric Power Station

g :
(A) mmﬁm (B)  WTEl srsiTer | BTg S UTeR Wiz
XC{‘L{"'E R | (D)  SETet arR yafasiet gt 2

.Ql31? o S 12 [ P.T.O:
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. medium, (he equivalent weight of KMnO ais
q|kalin€ ; )
[n al mﬂﬁ-‘ KMnO, Fl F\[Fﬂ'ﬁﬁ Y&

58
E‘-— 26.33) (B) M (158.00)
A G
M
' 3
(E) Question not attempted / ST T2
» 'ma@ﬁ@mmwmmﬁl T TR 7 375y R-
' /(A} AT (B) ®
€ T (D)
(F) dgaid ¥
q Fetea i a fora ek ATy =6 |1 22
7 T R (B) e R grermar &1
©) o (D) e
(E) 0 W=
61 The value of [log;go (Slog;o 100))? is:
[log00 (3l0g)0 l[h‘J)]3 &1 HH 8-
' k3
(A) 16 (B) T
l 1
© 3 D>
8 .
(E) Question not attempted / 3TTARA T
62 Ifsin23°= % , then sec 23° - sin 67° is equal to:
‘Tﬁ23°=%ﬁﬁsec23“-sin6‘?°m%= :
a
a : ®B) —
(A) bt gl b bz A
a
- | 2.2
\®) b2 — g2 D) b +a
(E) Question not attempted / 34'51?1'% Bl
' Ited and 162 identical
: . ht are equal to each other is to be me
| M R e l‘ﬂdIU'S ﬂfld he::il so formed. What is the ratio of the radius of a ball to the
solid balls are to be recasted from the liquid metal,
radius of cylinder? ﬁmuﬁmﬁzﬁﬁmtﬁﬁmmwﬁmﬁmﬁﬁlﬂwﬁﬂﬁz
T 3 ufeaes S, fraeht . A
= " b ‘mr :Hﬂqlil
e v ) e o e et fereiet 1 B B) 1:8
(A) 1:6 ®r 1:5
C) 1:4
w "
(E) Question not attempted / mﬂ“ﬂ“ 13 [PT.O.
Q13 _
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64 forum vyt oy wfiyr - e - »,
(A) q A 3w -
(C) aq (D) fa+wg O
(E) A ool
65  “siftm.ouf ez g WA and T 1 2 o
(A) HE - FTe (B) E:lm 3
e)  tus - Wi (D) - TR =

-(E) gaf@ww

66  Which qf the following is the state flower of Rajasthan and is also a timber yielding tree?

(A) Rohida (B) Shisham 0N
(C) Kbejr (D) Sunhemp O
\

(E)  Qdéstion not attempted
Wﬁ&ﬁmmmmwam@mmmmw,ﬁp

Ad (B) TR vy
§ B siwdllidi

67  In humans receptors for opioids are present in

(A) Respiratory tract —
(B)  Bath CNS (Central Nervous System) and Gastro intestinal tract f_'ﬁ
i O

(C) QNS (Central Nervous System) ;

(D) @Gastro intestinal tract ‘. | Ve

(E) Question not attempted 4

T | Sfysisey want 1 A5 fafire sfifveiise uftnt (il ASa s &

(A) G (B) ¥ df¥er o U4 S30H 99 31
Lor g dtmran (D) VeUT I r

(E) igaitaw=

68  Choose the most appropriate Hindi word for the given word: REGULATION .

(A) (B) ™
.)
ie (D) S¥ETRA \O
(E)  Question not attempted O
69  Completethe sentence given by choosing the most appropriate word: =
A persug'hn admires/loves himself/herself too much is a- -~
(A) ) n.ce (B) Numismatist ™)
(& Narcissist (D) Narcisus "
(E) Question not attempted
70 Choose the word opposite in meaning to-
SUSCEPTIBLE =
A .
(C}) pr.llcfane ABYT unpredictable %
( 'Qﬁfd_' ble (D) immune e
(E) Question not altempted e
71 Chuus&% mos! “I;Pmpﬁatu options to fill in the blanks: <
m 1 .
— nrbl’her:nds are.busy tonight. of them are writing an exam the next day, bu!
were still ready to party and so far of them have confirmed.

(A) none, most, all, nope All, most, some. none
L] L ] L ]

(C) Sﬂmﬂ, Sﬂmt, Sﬂm'ﬂ, ﬂ"
(E) Question not attempyeq (D) most, none, all, some

3] F 14 | PT.0:
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most appropriate option to complete the sentence:
¢ mo: :

languaLe of a circular 1S
rhe lanBUE=" - H
- (B)  round abouyt

{;\] '
vague APr emotiong)

) n nol attempted

L‘I“““h—c lt

(E) Qucstiu

prass 15 40 alloy of

o - "T ':;::i“;inc {g) Lmn and Nickel
(E: S:':E:”" not attempted (D) *rand Tin
;?Hﬂ@fflﬁ!ﬁ m@? =

wjf%ﬁkﬁgﬁ | w) ST 3 P oy
2 o (D) Fw R R

(E) A

Which technique is suitable for the disposal of biomedical waste?

(A) Landfill (B) Recycling
(C) Disposal in water (D) Incineration
(E) Question not attempted

ﬂa‘.ﬁi’%ﬂ" Qe fAgem &6 'Jq—ﬂﬂ; deheih %;.

(A) e (B) AEIsHUT

) Ut H e AP SIS

(E) Taid 94

According to census 2011 which of the following districts of Rajasthan has the highest literacy rate?
(A) Churu (B) Jaipur

(C) Bikaner (D) Kota

(E) Question not attempted

znllﬁwm%aﬁmtﬁmﬁﬁﬂﬁﬁﬁmﬁ%ﬁmﬁﬂﬁﬁwatmm%?
(B) <AL
(C) Tt D e

(E) Fgaia w

Given below are two statements about Laterite soil: ‘ | . |
Statement I: Laterite soil is found in Dungarpur, central and southern part of Udaipur and in Rajsamand

regions. |
Statement 11: It looks red due to presence of iron. | -
In light of the above statements,choose the most approprate an

1 t
(A) Statement I is true but Statement 11 18 false. (B) ;ta:;n;;ﬂmem T
(C) Both Statement I and Statement II are true- (D) 0

(E)  Question not attempted

from the options given below.

I is false but Statement II 1s true.
are false.

SUq-11: Fﬁ%(mﬁmﬁ:ﬂﬁ : aqgﬂ?mﬁﬁ :

T e mﬁﬁq%?ﬂﬁﬁ;ﬁ“a" et 1 e &, Ry o 11 9

(A) MIE%aﬁﬁHﬂ HHe (D) @A 1 3T I AT 376 €

) HYUF AR

%) . Sppiorss 15 [ P.T.O.
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Read the passage and answer the questions that follow by choosing the correct option, (Q. 77 to 81)
Experts in climatology and other scientists are becoming extremely concerned about the changes to Gm‘dimatt

which are taking place. Admittedly, climate changes have occurred on our planct before. For example, there hay,

79

been several ice ages or glacial periods.

These climatig changes, however, were different from the modern ones in that they occurred gradually and, a4 fa

as we kl’lﬂ\\"%t“m]h" The changes currently being monitored are said to be the I'E:‘ill_lll not of natural causes, by, o

human acti\ﬂ?;_ Furthermore, the rate of ch.nn_gr: is becoming alarmingly rapid. 5‘:

The major problem is that the planet appears to be warming up. According to somékperts, this warming Procesy.

known as gﬁﬁal warming, is occurring at a rate unprecedented in the last lﬂ,ﬂﬂﬂ‘ﬁarﬁ. The implications for g,

planet are very serious. Rising global temperatures could give rise to such ecological disasters as extremely high 8

increase in the incidence of flooding and of droughts. These in turn could have a hafrhful effect on agriculture.

It is thought rt_r_lial this unusual warming of the Earth has been caused by so-called gl‘ti:‘-gnhﬂliﬁﬂ gases, such as carboy

dioxide, beif@emitted into the atmosphere by car engines and modern industrial processes, for example. Such gases

not only ads@ the pollution of the atmosphere, but also create a greenhouse effectg:.?f which the heat of the sun i

trapped. Thisdeads to the warming up of the planet. 0o

Politicians dre’also concerned about climate change and there are now regular summits on the subject, attended by
M . it . 1, :

representatiyes from around 180 of the world’s industrialized countries. Of these summits, the most important one

took place in Kyoto in Japan in 1997. There it was agreed that the most industrializédcountries would try to reduce "~

the volume of greenhouse gas emissions and were given targets for this reduction of emissions. i

It was alsuﬂggﬂsted that more forests should be planted to create so-called sinks to absorb greenhouse gases. At

least part ofghe problem of rapid climate change has been caused by too drastic deforestation.

Sadly, the ﬁets are not being met. Even more sadly, global warming about climaté changes are often still being

; , O

regarded asscaremongering. W
M | 3

77  Idenufy the correct statemen O

The ice ages or glacial periods are examples of climate change§ih the modern times.

In the past, climate changes occurred gradually and naturally.
Rising global teémpratures can cause more ﬂuudin'g and droughts.

Oedle »

Greenhouse gases are given out by 5lants. 4
- The climate changes today are dissimilar to those of the past. O
Chm:r&)the most appropriate answer from the options given below: g
(A) (b aanddonly. (B) c¢,dand e only. i '
(C) "B cande only. (D) a,band c only. o~
(E) Question not attempted 2
78 The %Ef"h””“ effect is caused when
(A) 3‘1‘* gases like carbon-djoxide trap the heat of the sun in the air
(B) © green coloured glass or mesh s used to cover the plants -
(C) ! € green trees form g canopy in the forest %
€ roof is :
) ¢th LIS covered with green plants (o keep the building cool \O
| (E) uestion not attempted I v |
- .0-
1% ? b = (P.T
™
>
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which of t ot ind «trialized countries would reduce emissions,
iy & jore forests should be cut to create the so called sinks.
b. 5 aﬂtﬂmnbile industry should roll out electric vehjcles,
j Targets were Set tf:l rffduf:ﬂ the volume of greenhouse gas emissions.
" e rate of industrialization should be contained. @~ ™ p
:.the mér;: appropriate answer from the options given below: ;i
0s &2
C;;} ¢, dand €0n Y (B) b,candeonly.'(
{(C) a, bandC only. 9) b, cand d only."'tJ
‘ % ttem ted — P |
(E) QUESHUP *"i]mt o Ll
The ;‘mplicatidn&l of an unprecedented rate of are very Sefious.
. (A) Ecological disaster (B) Kyoto summit -
(€) Floodin Pf’é draughts (D) Global warming
: E) Question pot attempted . -
e T« I | ) o)
Y Match List-1 with List-1I T
List-I (Words) List-II (Meaning) o
a.  Unprecedented .. Forests land, whiE}h absorbs carbon-dioxide
(") i from the air
o VT II.  That which has pever happened before
, Implications ‘ . 1 ]
° Sinl:;(; [II. The deliberate spreading of frightening rumours
Zl Sf-‘-afre mongering IV.  Something that is SuggoRed
Choose the mE;; apprupriate answer from the nptinn(ng)iven bcrlffwli - ci ”jltl . 3
"...-n- = a- y U~ g WALy
| (A) a - 11, b ._.-'!IV, cC-~- II, d-I (D) a-1L -1V, e E-i?d - 111
() a-1,b4l,c-TLd- v Lo
; (E) Questidé{ ',%mt attempted f:z | po
€ {7}
82 Natural rubber is a polymer of : (B) Isoprene il
Eg; I;Eﬂpr:[nﬂ | (D) caprolactam
una-
(E) Questian-hot attempted EF:

T e FrEafafad # 5T e g s
o ( s

&) '”, Py FRET
©) EEI‘-’({-TTE?una-N) —_
(B) STTARAIA - L

¢ s has the Indian Constitution borrowed the Directive Princ iples of

83 From which of the foll =4

(B) US Constitution

owing Constitution

State Policy? . |
(A) Irish Constitution (D) Cana L0 Cﬂnstlt:tiun
(C) British Cdnstitution L

. ST hot attempte .
) Questid o ey s § ) g e,

Freferfiaa i & fer ¥ :
/@rf amtéiﬁmﬂﬁ“"‘ (D) mmnﬁm‘(ﬂ
(C) ﬁﬁm;{;}ﬂ - o
- “ L " [P.T.O.

v

Q31 F
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84 Who was the first woman chairperson of Rajasthan Human Rights Commission?

(A) Pratibha Patil (B) Shanta Kumari
(C) Kamla Beniwal (D) Kanta Bhatnagar

(E)  Question not attempted
TSI AEaTuER SranT €1 9wl qfear sro w1 ol

(A) winmofes (B) witan FwThl
(C) et Dy~ T AT
(E) Sgafauxw
85  Which of the following is an important ‘ISABGOL" producing area of Rajasthan?
(A) Jaipur (B) Kota
(C) Bammer (D) Jodhpur

(E)  Question not attempted

Fefefar it eam s T QHQEF%HT? ELCUIC m%ﬁrﬁ?

(A) FTR (B)
(C) == . ‘ﬂ’f‘Tﬂ'(
(E) Sgaiaws | M

86  Which City of Rajasthan is known as “City of Gannents“?
(A) Jaipur (B) Kota
(C) Bhilwara - (D) Bikaner

(E)  Question not attempted
TS F1 FH9 |1 9T 9Rart & et (Rt 397 mrifes) 3 & oy e 29

/rﬁ’” ERkE (B) WIeT
(C) wierareT (D) dfiFR
(E) SHaiaws
87  What is the minimum number of meetings of Gram Sabha to be held In Rajasthan in a year under the
Panchayati Raj System?

Choose thc most appmpnate option from below:

ﬁnnumaﬁmﬁmyl !
—AA) 2 siB) 1
C) 4 (D) 3

(E)  Question not attempted / 37wfta 7o

m & - : #
88 Inthe]2 .ch Year Plan of Rajasthan which sector has been given maximum allocation?
(A) Agnculture and Rural Development (B) Social and Community Service

(C) Industries =
(E) Question not ﬂ“‘?mplcd ) Power
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i
s SR |

| — ‘
‘:'{ 1 ﬁ[“\l {:ﬂ"ﬂd ‘Maru then Mﬂmyﬂrn and I[_“Er .
Wi P : " f ‘
2 _f'i;..l hl‘ll""“l“““c option from below:
s '[““;_ N

L (3

T I
me to be called ‘Marwar’.
VLY

o Qmﬁ:‘ W s (B)  Dholpur
t\] Hh“[-ﬂlhlll_._l (D) Judhpur £y
l;‘i Jaipt®, ji.ﬂ atempted (7]
:F] Q“"ﬁ“u“ﬁﬂqﬁ"mwm oIT, R wam aﬂtmﬁmmqﬁ -
e g el
e A B) dew
g 311'31 ®) 4
{t,} ;q’iﬂfm“ﬂ L)
o . first person to use word ‘Rajasthani’ for the language of Rajasthan?
g WO o &i“iqm (B) George Franklin
o i g i )
&) gzic Abraham Grierson (D)  George Lincon, Garryson
(©) Question riot attempted I
;I;Imﬂ o i & Tt e STl koM
¢ o (B) r
/Lg a'jﬁﬂ'd‘ ;}.“I L :
o di ré"‘c . ed the ‘Green Oscar’, Whitly Gold Award _2024?{1;4
op Which Indian ‘ c ' {1 . (B) Tulsi Gow :
(A) PumimaDevi Barman | -y Alice Garg {*)
ita Devi ot
- gﬁiiﬁm attempted —
g:-;il‘ﬂlilﬂlﬂﬁ ‘Ihq AT, ngIEE“TﬁF‘gWZOZi@ ﬂ?ﬂ:ﬁ Tﬂg[
, N =
(A) o 3t s i (D) A mi t 2
C) 3gar i o s C
E’E; 1O . e the issue ufhnl::li;ilg simultaneous elections 10 India
\&) mmittee set Up e hree Laxm{lé'nt Bajpai
9 Whoisthe chaigpan o S il e Vijﬂyl’"ﬂf'; Singh Tomar
(A) Shree i??mm Elii(; (D) Shre g
(C) Shree Raminath KOVEE .
. t attEmed ﬁaﬁﬁ'a; Mﬁi‘l%{’
(E) Quﬂﬁtlﬂ . (8] %—Hzaﬁ"&lﬁa;m /(‘B_),’ ﬁaﬁmm
TG 3 O T A (D) gﬁﬁmﬁﬁt?ﬁm
(A) ot s FeTE #
oft T AT -
E(E:; :qiﬂﬂﬂ {;ﬂ ' . sthan associated with ':fich one of the following?
:Q . svakriti Singh of Ra)as '( B) Equestrian show jumping
9 2023 Arjun awardee, D“;ym“s (D) Equestrian cross country

(A) Equestrian hunter doa)
(C) Equcstrim dressage®

=
(E) Questinf:ant attemplﬂf:ﬁ v, ﬂﬂ‘fﬁ fete, Wﬂ T sifed

TSI <hl

z‘cﬁ{
(A) gsqaﬁiﬁ—’(
(C) wﬁw -
() rgana A

Q13 2:

| P.T.O.
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94 Match List-I with List-11 |
et -1 R -1 @ gk il |
List-1 (Decimal value) List-1I (Binary value) |
e -1 (TATHET ) et -1 (R e |
a. 4 L. 1000
b. 3 11. 1001
C. 9 Il1. 0101
d 8§ IV. 0100
Choose the correct answer from the options given below:
9 R fawegt ¥ g@t s RGELE
A& a-lLb-IV,c-Il.d-1 (B) a-I,b-Ic-IV,d-1I
(€©) a-IV,b-Il,c-1III,d-1 (D) a-IV,b-Il,c-II,d-1

(E)  Question not attempted / (o wx

95  “USB"standsfor 2
(A) Universal Sequential Bus | (B) Uniform Series Bus
(C) Universal Serial Bus (D " -sal Series Bus
(E) Question not attempted
quEdrapiw 2 |
(A) FhHada HiRina 9 (B) JFwn e =g

ey ghada difga sy (D) IFadaHiwsw
(E) Saia X
96  Who is the I¥ Indian Woman Athlete to win three Paralympic medals?
(A) Sheetal Dewvi (B) Kanchan Lakhani
(C) Mona Agrawal (D) Avani Lekhara'

(E) Question not attempted

a1 Yeiies gaw Sfiaw arelt gael widta afder wuefiz s 29

(A) Yiaer (B) 9 T@rY

(C) T 3ETe By el s

(E) igafa s

97  Porpanaikottai, Sangam age site, is located in which state?

(A) Arunachal Pradesh (B) Tamil Nadu

(C) Kamataka (D) Kerala |

(E) Question not attempted |

WAFIEE, T g e, e oe 3 R &

(A) IFMEA W - |
(B) dfrerTy i-'

(C©) s ‘}p)" EXG

) R _

A
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s OF < ame?
hois! _:
o \1} Le der Paisri ?;)) Mﬂhesh Bhupati
(¢, 1 pham Rok
(€ Yeb : on not attempted an Bopanna
Ques _.
E) «— 317 $H oh [T ATHifhd B
) W ‘,(-B'T ‘Eﬁ
A) ﬂ TRy
l.C y 3 (D) & drg=y
(

celect the most incorrect statement about Ganeshwar excavations.
ec

(A) [n Ganeshwar excavations undertaken by the Department of Archaeology and Museums, Rajasthan,
| brought to light about a 5000 (approx.) year old culture.

B) Here copper was received from Harappans.

(C)

D)
(E) Question not attempted

mﬂgﬁ%ﬂzﬁﬁmmwmwﬁ
(A) mﬁwww
By T TSI | ATET STH [hAT STaT &l
(C) oY i Y TR T U FE U € o

Ganeshwar is an important site of copper culture.
It was discovered at the source of river Kantali at Neem Ka Thana.

(D) TOrER, < ST AT | el ) 3w TE T
(E) Iaia A
i : iasthan?
10 Kalibangan is located in which place of Rajastit (B) Sri Ganganagar
(C) Jaipur
- d
(E) Question not attempte |
mﬁnmﬁ%%ﬂmmﬂ”ﬂa' @) MR
p) ¥
A TIHETG (D)
© g
(E) :ﬂﬁﬁﬂ'ﬂﬂ gamal is 34th from the left end while Ravi is 20" from the
o S ueue facing North Kamal stands second to the left of eshaan, then find out the
01 Some boys are standing it 2 ioht of Eshas™ o
TlghtendandRawle?mmmﬂn m@tﬁmémﬁaﬁtﬁaﬁﬁﬁﬁmﬁwaﬁt
in the O guos e A1 Y dfen & crgent o T
total number of boys 1P ﬁﬁ,{-@gm e, G @ {ﬁﬁgﬁzﬁ(n{mmtﬂy
o T AR A I S T
A S G @) 66
—-——
AT T _ (D) 62
Ay 64 -
|
(C) 60 mpwdxaﬁ,‘"ﬁ“ 21 i) ay [ P.T.O.
(E) Question 1Ot * it
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e

102 There is certain relationship between the pair on the left side of Sct up the same I"’:l‘“i'f‘-‘"."al'.lil;g on

side of :: then find out which uptimr{muhl replace the *7°
£
LANGUAGE : PCRIYCKG :: (‘()Mjl‘l ITER : ?

’ B

oo 1
L7
O

::%mmﬁgrm#mﬂmmrhﬁﬁ : ﬁ;mﬁﬁmmﬂﬁ”m"ﬂmﬁmﬁmm'mw&ﬁ
L

WHRT @ Rew gty )

i'_':'l

LANGUAGE : PCRIYCKG :: COMPUTER : ?

AAT GQQRYVIT = (B) GQQRYSIT
(C)  GQMNYVIT (D) GQRRYVIT
(E)  Question not attempted / A wy
103 ! -
3 Find the numbers of tnangles in th€'given figure:
A= & angfa & et 0 e hﬂm
pos
-
(v)
v
(A) 3] (B) 17
,1487 27 (D) 29
(E) Question not attempted / ﬂiﬂ—%iﬁ oy
O
_ 0O
104 The area of the triangle formed hy:g’c lines 2x +y =4, x — y + 1 = 0 and x-axis is :
(A) 4 squnits o (B) 5 squnits
(C) 2 squnits () (D) 3 sq units

(E) Question not attempted

-T{Eﬁlr+_1'=4,x-y+ I =0Qﬁx-ﬂ&?ﬁﬁﬁﬂﬁ’jﬁﬁm&

(A) 43 gard 1 (B) 5t g
(C) 2aigard O (D) 3 garé
(E) 3Iafauy 4
3 Yo
r..{

4
3
ey

vt
o
W
O
r=i
-

()

1
@)
Lo
W

105 1 '
n the figure below, PQ s parallekto RS, 2PQM = 80° and £SMO = 25°, What is th u}u; f 20SM!
; s the value o b

413 & ¢ smEfa d po, RS ¥ wxi POM ='80°
: : “‘"fﬁ 3-4 QM ='80° 3T £SMO = 250 & £ OSM T 9T F41 B?

0 vt
Q m g
\0
X9
S 1
° -
(A (") "
(C) 50° r4 (B) 65°
(E) Question not ““‘mplfdfﬂﬂ'rrﬂ?lgq (D) 60°
Q131 % "

e

h
O
0D

Y

™
v

l l‘rT‘O.
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on S8 it
1 glffns and then decide which of the given conclygjgy, luglcac; from commonly known facts. Read the
f Lﬂﬂciuﬁi” No singer is director y follows from the given statements
5talfmf gome directors are teachers
gome teachers are students
on: (1) Some singers are students
gsion:
o (IT) Some directors are students
. ion I nor II follows
(A) i e 11 (B) " Both conclusions I and II follows
0 Only conclusion I follows B Bheiio ko

(A) #?ﬁﬁ;ﬁﬁlmﬂﬂﬁr% (B) ﬂﬁﬁ@:;?%
" (C) et et 1 9 & /GBT'%EH {11

() a9

rst Chief Secretary of Rajasthan?
‘(B) Shri Rajesh Bhushan

(A) Shri K. Radhakrishnan (D) Shri Apurva Chisndrs
(C) Shri V. Narayan

1 Who among the following was the fi

Ay oft 3, qraTEeT D) HIAEIH
(C) it <fi. A
(E) 3raita wA i Leagoé?

’ b;—ated by
" When was ‘Direct Action D“Y -

(A) 16 August, 1947
(C) 15 August, 194°

ted an?
(E) Question not atte™P — e AT B) 20 I :z;
iy i g WA T ) 1637
(A) 16 3TEd, 1947 i
€) 15 3w, 194°° 3
(E) wyaf@ 99 |

[;“3‘?

——
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Rajasthan?
(A)  Tarun LOS (B) Vyask ;;:
(C) Kishore ‘¢ (D) Shishu :g
(E) Oucuiim{l:;ﬂ attempted | el
st} sy vy i freflar et 202324 it qrarear 3 vt fra Aoft & @ 20
a w7 Ay T :"{’
(C) fram () fim
(E) :ngﬁfmﬁ »
= o
110 1ZB (thtnhyt&s cqual to: :g
| ZB (Zettabyt R !
(A) 1023 KBy ‘7 ABy 1024GB ’;2
(C) 1024 EB (D) 1024 ZB o
(E) Qucsliuﬂﬂt attempted / TTaf@ 94
v v

111 Which of the l@uwing shortcut kéy of PowerPoint that helps to prcscni the slides from the beginning?
ﬁnﬁﬁaﬁﬁ,ﬁ:qﬁmﬂﬁﬁmﬁ(key)tsﬁmﬁmzﬂﬁzmﬁﬁ@m%?

(A) FS g-; (B) F4 4
€ Fl Dy F7 =
(E)  Question not attempted / 3TFafa 541 v

" H | |

112 At what time btﬂgecn 7 and 8 O’clock will the hands of a clock be in the straigé.t‘linc but not together?
D 3 o
(A) 20 min past 7 (B) 7ﬁ' min past 7 tg

(C) Smin - -

pagry (D) 51_' min past 7 v
: 1.8 1 D
(E)  Question'Tiot attem pted ()

ugi i 7 msaﬁ%mmﬁgﬁﬁmmmwﬁm}mﬁ@ﬁéﬁqwmﬁqﬁ@ﬁ?

(A) 799 20t iy i
C) 7 %—m} y {
(C) 799 s -
(D) 799 5=
(E) ¥refeaya - Tl
-
113 T TR ALY frede . g-l)
3 + 9 ey
' (B) 39 +=xor
© T (D) 3= i
(E) FARa bl |
03I » | [ P.T.O- E

ikl
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which Ot

i
I

th . - .
aéd WM i :?;r\mpnmc option from below:
Choose T ‘ (B) Marriages
\) Teel O _
u WO (D) Holi
tL“'} Nﬂ\mm]

=
' ttempted
Question “05 P

13016681

(&) "
et i 7 R S & AR &7
B W IO T T
(A) A% (B) CEI
©) T oo Dy~ weh .
(E) wﬁﬂwg .
115  The life hstory w‘the saints which is available in poetry form in Rajasthaﬂzganguage 1
™
W | -
(A) Vachnika (") (B) Dawavait O
' ™ (D) Vaat )
(C) Parchn —
(E) Question not attempted |
e 1 S geid e T STYTH e 59 8§ I9ered B, FEAT e _ -
ok =
(A) FERE (B) <Emad o
/u?r ot W (D) 9 O
(E) 37afays 0
- —
() o
116 Where do womenrwear jewellery named ‘Borla’? ™
(A) Hand K - (B) Head e
(C) Ear - ™ i (D) Nose
(E) Queﬁipn n%attempted . . il
FREAT ATH SN[ Al Td Fl et 82\ g
(A) B ™ Sa ‘ ~B) & O
(C) =1 g ' (D) HIh g
(E) Agaid ¥4 e
v~
117 World’s first cloned buffalo was born in which country?
(A) USA a (B) Russia 3‘-[
(C) India 0 (D) China WO
(E) Question n{t attempted Co)
forer <y weed o1 9 fore 291 9 g3 A g
(A) Fway v — By o
(C) wra (D) <= ~
(E) Sqaiay=

Q13 ] ?’ 2§
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118 When is the National Sports day celebrated in India?

29 August
23 August

29 AT
23 AT

Amit Shah
S. Jaishankar

(A) 25 August (B)
(C) 21 Augus! (D)
(E)  Question not attempted
I | Uity @ Raw &4 94141 Sy 2
(A) 25314 A
(C) 21 3= (D)
(E) qaf@uw
119 Who among the following is the author of the book titled ‘Why Bharat Matters’?
(A)  Nirmala Sitharaman (B)
(C) Rajnath Singh (D)

(E)  Question not attempted

ﬁq%ﬁmﬁﬁaﬁq*mmﬂzﬁ‘mgm%mﬁ

Ak Ffe e (B)
(C) U=y faw (D)
(E) mﬂaﬁaw = i A

120 CH;COOC;H; + H,0 —> CH;COOH + C,H,OH

In the above reaction, which of the compound is the “auto

fa mre
T, SIg3ahT

catalyst™?

mﬂnﬁwﬁﬁmﬁaﬂ?mﬁﬁm*ﬁm'?ﬁﬁﬁrmmﬁ

(A) CH;COOH (B)
(C) CH3C00C2H5 (D)
(E) Question not attempted / aﬁ?lﬁ?l’ B E

121 Zn + CU504 — Zn 504 + Cu
Which is being oxidised in the above reactionr

FULRT AT F T STt &Y @ 22
(A) Cu ~ (B)
(C) Zn - (D)

(E)  Question not attempted / 7T 94

122 Some metals sink in water, as:

(A) their surface area 1S less than water. (B)
(C)  their density is more than water. (D)
(E) Question not attempted
T UTQY IS | g STt €, i -
(A) ST YU Gchet Ste § @ Brar 2 (B)
(C) ST 97 911 & tfires grar 2 (D)
(E) af@us

Q13 ] ? | 26

C,HsOH
H,O

CUSO4
ZnSO

their mass is more than water.

their density is less than water

3THT ZHTH ST W 31 gar @
ST U STt & 9 BT 2
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icle of € onstitution of India, deals with the dutje o the Chief
AT e

ich Minister of State’
) “1]“ article 164 (B)  Article 165 ¢?
¥ cle 162 (D) Articled)
() j@ﬂsﬁnn not attempted : i 67
E) 1o maﬁ?mﬂaﬁfm%ﬁ@m ¥ T s Ly
-y Eﬂaﬂ:‘%}ﬁ”&?

¥ 164
/' i B) 3197165

o SR 162 D) =37 167
et A ™
E) &P -
, Find the incorrect statement about:- The recommendations of the Aghoy h
. iare: chta Committee on Panchayatj
\) (Reservation of seats for SCs and STs on the basis of thei;gop lati
v ulation.

p) |Oficial participation of political parties at all levels of p}

b ' ahthayati elect;
(C) :_l'hethree tier system of Panchayati \ ayati elections

Raj should be replac?d:by a two tier system.

) dfthe Panchayall Institutions are superseded, elections mi@t be heid wirh
(E) L~t%klﬁsltiﬂn not attempted o eld within one year.

ey Tl Tt Tt % wurm e Rt sgere @ v
5 ' m
(D) ﬁwmwmmm%ﬁ@aﬁ%ﬁmwmmml
(E) /3Tt et o
" =
; ")

5 frefafed & g w51 faeim wse 2 i
P (B) Fewm
(C) I-F»?qﬁr ABY 3y
(E) “Srafauy O)

\O ' (O
' S e st P A AT e &\
(A) g (B) &,
C) gy Ay ol
(E) ‘ﬁgﬂﬁauﬂ
M R 3.
i A T < FerdT s ST, 9 FE .~
() Fraferdram o fri
O
r@"@ﬂw - -
- (E) 9 o -
e , -1l
Emﬂ%ﬁr@#}ﬂﬁ 3 JeagYeh e (B) WK f::
W Dy e
©C) faum=
(E) A 9A 27

| P.T.O.
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32
129 ﬁﬁ%ﬁaﬁﬁﬂzﬂﬁﬂ?ﬁmé' Y
a.  arfufy b, dui WY P
c. oM | d. @ a
e. WH J‘F“( q"‘fﬂq
13 oy faaresit % @ wratfiss e 3w v ¥
(A) c.de (B) b,d,c e
(C) acd b,c,d
(E) gufaww ﬁ |
130 fF=fafead *Corrigendum’ & hm%ﬁmﬁ-
(A) =9 (B) ¥F
(C) Yfew - Dy qftg
(E) 3afiauy |
131 F=fafgs § 959 ww a@ri 9T )
AT T (B) uwi=@wH
(C) WHuA (D) frEvr O
(E) qaita vy
132 3w | fAfea Swat 2-
(A) By 37
(C) & (D) 3o
(E) Iqaiauy
133 ‘8T F ITFR F T AET T F fog o v -
(A) Fard (B) wdt
Q) Fa (D) Fa¥
(E) qaiayx
134 T -1 31 gt -11 & gafaa Hifvg
gt -1 (F8Ta) kB E L))
a. WA - QT U FET —1.  Wefs wr &
b. wi T 1. ST afeem s
c. HH WG . IR T@EAT
d. eI IV. 99T S 91d FET
1 feq e Faraedt 3 & watferes sues s g |
(A) a-ILb-Ic-I,d-1V " (B) a-I,b-Lc-M,d-IV
(C) a-Lb-1V,c-ILd-1II - 8o 016 T 2T s
(E) qaf@ya y = e
135 ‘3319 T@AT YeTal 1 del 374 2.
(A) T TEITAT
3 (B) ST
(O FECT W@ (D) 3 firemr
(E) Sufayx
Q31 28 [ P.T.O.
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© ;:::;inn not attempled ) lortnigh

u;{m + et A 0 I W A Ry ) Y ofy AT

::n A4 AW ik Tw“‘l‘“‘n I iy
0 i THIT (u}) ' @m

o) aﬁnﬂn N REL &

Name the largest Solar Park of Indin Which ig g

choose the most appropriate option from be

low:
(A) Bhadla Solar Park g
() Charanka Solar Park (B) M andsayr Sol
(£)  Question not attemped (D) ar Park

In the
%) 1961 iy -
:3 '1;47 (B) 1967
uestion not attem (D) 19
Pted / 3Tl wy )

i? Narmada (B) - Wianss
AR Sy ﬁﬁ%ﬂﬁmmwm

©) =y (B) #mg

® ey (D) Wt

ges for their wo

rk?

followiy Emating from the Amarkantak range, flowing j o B
 type of drainage : , & In all directions, is g exampl ‘

((2; Dendritic o (B) Radial Ple of which of the

Trellig adia
(E : (D) Centri
e':rzr@_E‘:iw::~:.tv:m not attempted o
- mm&ﬁmﬁmww&mﬁmmﬁw&mﬁam
(Awm%é “TRTC 6 ST SIVaTE 1% Wi
(Ci (B) vy
® ST (D)~ vt
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141 Which of the following translators converts high level language into low level language at once?

(A)  Interpreter (B) Controler
(C) Assembler (D)  Compiler
(E)  Question not attempted o
-~ = |
ﬁnﬁ‘erﬁ'nﬂﬁmmaﬂ?fl;ﬁhﬁmmﬂn N1 Y U W) e i e e s i afrafdd g 2ar
(A) RO \0 ) A O
(C) e i-.if; . o
| APy TR -—
(E) ogafaww . -
" (")
142 HTTP stand for 1 —
L)
(A)  Hyper Text Transmission Protocol (B)  Hyper Text Transfer Protocol
(C)  Higher Text Transfer Protocol (D) Hyper Text Technical Protocol
(E)  Question not attempted :;:
WAARF i 0O
(A) TR Iz Werwre BT TR A gmq;{u’rém{;e
o (")

E B
(E) afaws "
1

143 Where was Asia’s largest civil aviation event, ‘Wings India 2024" held?

(A) Mumbai . - (B) Hyderabad
(C) Kochi N ' (D) Lucknow

(E)  Question not attempfed

1

(A) Hag - 5 A
(C) ==t ) S l
i ' (D) d@EITSH .
(E) qufiawx
144 Choose the most appmpri{gifé option to fill in Ithe'bjlﬁnk: g:
By tomorrow afternoon tli;plane carryi dici
, the, rrying medicines for war vict; Ukrain
(A) will have taken O . (B)‘- tﬂky_mtlms ‘é’; off for e.
(C)  will take -~ (D) '1::; A
» - wi '
(E)  Question not attempfed | b f?')
Ch . s
145 oose the most appropriate passive form of thé given sentence:
People must not leave bicxc&in the hall. |
(A). ‘The bicycles are not¥o be left in the hall by the | S::
(B)  The hall must noy h; Ve ' o
e ?4 /e any bicycles of people O
(C) Nobody should leave bicycles in the hall, a
(D) B.:cyr:fcs must not beJeft in the hall, E;
(E) QuesﬂPH not ﬂtteméi_' (M}
v |
30 &
013 ] ? . [ P-T-O'
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R

ption to fill in the blanks:

inte 0

il (i1l hired boat and went f;
ot approl o but they still hire or
o (he M windy morning by —
. r_F_,....----"*"' .
\# o const. (B) a,a,a,the .

. mc :1 the ' (D) the,a,x,a

N Y '

s g the

" e X " . ‘ ‘

¢ estion not attemplet i s
") ( fitant object after refraction by eyc-lens converges at a point in front of the retina, this

g from a distd
" .[|b .
. IfU6 1 is called : -
v niX of eY¢ defect 18 € (B) astigmatism

l.-“ . i ightedness (D) hypermetropia or far sightedness
0 myopia Of pear Sigh . )

i stion not attemptc i AW : - &
6 Ques M 5 sy 3 are afe X % | U feig ot Afefi w8 a@ e s
qR T A3 N | |

* ﬁmw .
hauamﬁﬁ (B)  feigerar
) v @ fene g (D) FECE A g e

i ' | . The image formed will
& Anobject is placed at 30cm in front of a concave mirror of radius of curvature 15cm. Th g
I ; ]

N e size that of object, real and inverted.
' ' (B) of same siz€ tha A
(A) magnified, virtual and erect | Laqu _
(C) magnified, real and inverted (D) diminished, real and inverted
' ted
:: Q:S:lsn;;n;:::rng—;aﬁm %Msoﬁrﬂ@mwm%ﬁj:mgﬁﬁﬂﬁm
3 A arefas I Ieer
aﬂmﬁh (@), AT SR HT (B) aE]H AT, < ;
- ; (D) e, ATt 3 e

() smafida (arg), At I
(E) yaftawa

destination of Sun-Earth L1 point on-

¢ e § to the
9 India’s first solar observatory has begun e Jﬂumeykl'}) December 01, 2023
(A)  November 07, 2023 . (D) September 02, 2023
(C) January 25, 2024
(E)  Question not attempted N fig L1 ot qrAT A gy @ o2
" L 2
T 4 et e Arerarren 3 A - T " (B) mulz, igi
(A)  FE=C 07, 2023 iy forcda 02,
" .
(C) S=ail 25, 2024 |
(E)  rgafa wa _ P
) ' nch vehicle of ISRO uscdmff' lﬂllﬂﬂll'llm Chtglqm;l;: 3 nussion
150 Which one is the npcrﬂliﬂnﬂl heavy lift ln:H-ﬁ 1SRO) oy SFATENE R R— .
. j (Slm A ¥ fag (B3) GSLYV
(A) GSLV MK3
- s '
(C) LVM3-M4 empted / argafa ™ . [ PT.O
(E) Question nota -
|
3 ] ? 4
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